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ΘΕΜΑ Α Α. Α.2, Β.1, Γ.3, Δ.5, Ε.4, ΣΤ.7 
Β. Θέτουμε συνα=y. Τότε 2025y2 2  yy  ή 2

1y  . 
Για y=2 συνα=2 Απορρίπτεται 
Για  2

1y   ,3232
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ΘΕΜΑ Β 
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ii) Για 5,2
1    : Ρ(x)=x3+x2-5x+3 

Άρα x3+x2-5x+3=(x-1) (x2+2x-3)  ΘΕΜΑ Γ 
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Β. Πρέπει: 2...
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Γ. Πρέπει: 1λ012   Για λ=1: Ρ(x)=0 Απορρίπτεται Για λ=-1: P(X)=6x2-2x Δεκτή  ΘΕΜΑ Δ Α. Αρκεί Ρ(1)=0 
Ρ(1)=(ημα+συνα)2-1-2ημα . συνα+1+εφ2α-  2

1  
=ημ2α+2ημα . συνα+συν2α-1-2ημα . συνα+1+εφ2α-  2

1  
=ημ2α+συν2α-1+1+εφ2α-  2

1 =1+εφ2α-  2
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Β. Ρ(-1)=-6 (ημα+συνα)2+1-2ημα . συνα-1-εφ2α-  2

1 =-6 
 εφ2α+  2

1 =7  71
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
 ημ2α+1=7συν2α 

 1-συν2α+1=7συν2α συν2α= 4
1  συνα= 2
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Αν συνα= 2

1  α=2κπ ]2,0[
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Αν συνα= 1

2  0 22 22 3 3
[ , ]          ή α= 3
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